Exam III; F4360; Fall, 2002




Name ______________________________

Short answer questions/problems

1.  For 2002, Empire Inc. has set a target EVA for the firm of $150 million and a leverage factor of $100 million.  The CEO of Empire is paid an annual salary of $1.3 million and his target EVA bonus is set equal to 90% of his base salary.  What will be the 2002 EVA bonus for Empire’s CEO if Empire’s actual EVA equals $110 million in 2002?
2.  Why might capital budgeting decisions based on discounted payback period fail to maximize the wealth of the firm’s stockholders?
3.  Stony Inc. is considering building a new facility that would cost $100 million to build and which would fall in the 7-year MACRS depreciation class.  If Stony’s marginal tax rate is 35%, how will the investment in the facility affect Stony’s marginal after-tax cash flows 5 years from today?  Note:  use a “+” to indicate an increase in cash flows and a “-“ to indicate a decrease in cash flows.
4.  In theory, how should we value the possibility of expanding a project that exceeds expectations?
5.  What do we call the analysis of the impact of changing one variable on a project’s net present value?
6.  Briefly discuss the conditions under which you might prefer to estimate the beta of a project your firm is considering by calculating the average beta of securities issued by other firms?

7.  Why are bond ratings important?
8.  Who is stock issued to with a cash offering?
9.  Assume you own stock in a firm that has just announced a significant change in its capital structure.  As a result of the change, if you do nothing, your risk has just increased.  What change has the firm made?
10.  What evidence do we have regarding how the stock market reacts to announcements regarding changes in a firm’s capital structure?
Problems/Essays

1.  Harry Inc. currently has assets in place with a market value of $150 million that are funded with equity and with debt that matures for $200 million seven years from today.  The beta of these assets is 0.7 and the standard deviation of returns on these assets is 48%.  Harry is considering investing in a new facility to produce Quidditch equipment.  The new facility would cost $10 million and would have a net present value of $1.5 million.  The beta of the new facility is 0.8 and the standard deviation of returns on the new facility is 52%.  Because of the high correlation between the new facility and Harry’s existing assets, the standard deviation of returns on the firm as a whole is expected to equal 49% after the new facility is completed.  Harry’s existing assets are expected to generate cash flows for the next 15 years and the new facility is expected to produce cash flows for the next 20 years.  The project would be funded with $2 million of cash, by issuing additional debt that matures in 7 years for $10 million, and by issuing common stock (if needed).  The risk-free rate (all APRs assuming continuous compounding) varies by maturity as follows:  1-year = 1.41%, 7-year = 4.08%, 15-year = 5.83%, 20-year = 6.22%.  
a.  What is the value of Harry’s stock if the project is undertaken?

b.  Assuming Harry undertakes the project, what is the current market value of the new debt issued to help fund the project?

2.  Assume that the federal government decides to eliminate all income taxes (for both corporations and individuals).  Under such conditions, what might cause Firm A to have a higher optimal amount of debt in its capital structure than Firm B?
